o T e e T T —

4 AFM Logs & Exponentials Study Guide Namcﬁbu(\),.
.Simphf, - »
L. (Zﬁ)m l\m\/ ,/{{f 2. 13%%.135 N = Ve
Y u-
. B, Vut2v:3
wa e ¢ Vio
2 e 2 YW
1%
321‘-4 g N
i Ao tx) 4. (nm5
AX-Y -3t 4x WSW;\&S _ LV WI—S’—' =
x-12] (x-1o ‘ =
3 m
5. b3m"5.b4—m 3m-—-5+ (_i___m 6 (g—as"bz-b:)_ (_:c{l:
2V~ 2 'y
2na-—| ! ¥ llb j__f_"_t_f Y= g o
= _ " : qe’
b 3) ' w4 b (4,
7. (a\libﬁ_z)\{E 8. (m%n'i‘)z ' _
| ’
\( ,_{ 2| & 4 liz 3/
Ok\ﬂiblf‘l,&b VV\’%V\ %@Ymgmz
10. _ .26 0
> 3381 2710 - 2V6 (¢
‘\J-/\‘I —LI \@6 YY)
e Five]
woivpy  HE]
11. 448_‘[2}:8 12. 192.13_}’4
RPN Mo
W DY i

N
11N Y. |2
N
e ) &

| @U;L \ﬁx\jl o
(e :

28

Scanned with CamScanner



a&‘)ﬂa‘! ':'__D)

Evaluate without a calculator.

13, glogs3 <2 5 14. 1 bt -1 5 15 2]!093&3(:9'?
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True or False: Linxy
21 In(x +y) = Inx + Iny 22. logs (%= )_ 2logym — 1 — logsn
] A
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' P q T 16 24, Iflogs(2x—3) =5thenx =4
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Graph the following and give the domain and range and state asymptotes.

27. y=3*"244, el 28. y =log(x —2) jZ'L 29. = 2% IZEIDMO{'
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Solve thé followin
30. logx +log(x + 2)=2

. Q,od.(xazlx) =3

lu 'X 4—le

0=x f‘Zl)( 4.

0=( X +25
32, logs(Bx+7)—2\(X q)

34, lag<(4x +4) =Teg;(3x + 10)
Ux+yl=2x+10
X =W

36. 4**34+2 =258

. Lr)(’f'3: 23.¢
Ly (13-?)"—?“5
EEENEY)

38. 250 = 35¢03¥

W

)?zm(l(ﬂx )::;

8 Exact value or round 1o 4 places.

31. logy(x? = 1) = log,(5x +5) =0

Loy 4 (}'(;;:,s J2e (x-0)xt))=0

Sxa s
£ hbS=y &4
O=x*-5Sx -~
33. 210964-—-10,9616 logex

b‘?‘q( 7 )= S x
¥ =X

35, 3% =42

,E,R)‘} 3 ( (—IZ) :tk

YX =3.4¢
I)(_’}. ¢SoS

37. 2x+1 - 32—2x

(x+)) Rgr= (2-2x) Leg 3

XLz + M2 = Fogy - pxheg3

x Lo L trrdeyr= 2Log3 — A9 2
[,25S2) = t,(ﬂ%z,

[X= - S204

39. 5—6e** =17

41. logys(x +2) + logysx =1 =YY
W,S(Xﬂx'i S E

l< +zx
Oy +lx—!§
0=(y +S)( k-3

42. Write the equation that transforms y = Inx with the following transformations? reflect over the y axis, shift
left 8 units and shift down 10 units, and stretched vertically by 6.

=lolin (- (x+0) -lo 4
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Set up and solve the following problems involving compound interest. Show all work. N\

43. How much money will you have in 8 years if you invest $4000 at 3.5% compounded quarterly?

A = L{o'oc)(] + : 935 W S

.

—

| A =% 52 907

44. How much money do you need to invest at 2.8% compounded continuously in order to have $25,500 at the

end of 8 years? S
9.55“) = PL;:UZS’( &) {__Eﬂj‘:flol 3?2, S Lf

25509 = P(l.zl_‘—j 11
(+251U] (¢ )

45. How much money will you have in 6 months if you invest $1000 at 3% compounded monthly?
12(.S)
. . O
A =looo( | + <2

| R

ERITIEN)

46. How much interest will you earn in 8 years if you invest $7500 at 4 % % compounded semi-annually?

(
A=Tseo( |+ ‘i%_s)z )

A= (0494, Y | Mtgeit=9 24 94.04 ®

oA INe ek

47. If you deposit $4500 at 5% annual interest compounded continuously, how much money will be
in the account after 10 years?

A - Y500 ecos(ta)

-

| A= F744.25
48. How long will it take you to ouble your money in an account that earns 4.6% compounded monthly?

5.
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2= [Lo3gy**
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